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 (Part-l)
Q1:               
Answer:
1. A
2. B
3. A
4. D
5. B
6. A
7. C
8. A

9. C

10. A

(Part-ll)
Ques No.2 
Answer: 

f(x)=3/4(3-x)(x-5)
f(x)=0

0=3/4(3-x)(x-5)

Left side value change to right side of =

¾*(3-x)*(x-5)=0

Multiply both sides of the equation by 4/3

(3-x)*(x-5)=0

3-x=0
x-5=0

X=3
x-5=0
x=3
x=5

The equation has 2 solutions

X1=3 , x2=5

Ques NO.3:    
SOLUTION:

U= {1,3,5,7,9,11,13,15,17,19,21,23}

A= {3,6,9,12,15,18}

B= {5,10}

C= {3,6,9,12,15,18}

(a) (A Ŭ B)C  =  AC  Ո BC
L.H.S ------- (A Ŭ B)C

(A Ŭ B) = { 3,5,6,9,1012,15,18}

(A Ŭ B)  = U – (A Ŭ B)

= { 1,7,11,13,17,19,21,23}

R.H.S ------- AC Ո BC

AC = U – A

= { 1,5,7,11,13,17,19,21,23}
    BC = U – B


= { 1,3,7,911,13,15,17,19,21,23}

AC  Ո BC = {1,7,11,13,17,19,21,23}

(A Ŭ B)C  =  AC  Ո BC

(b) AՈ (B U C) = (AՈB) U (AՈC)

L.H.S ------- AՈ (B U C)

BUC = {3,5,6,9,10,12,15,18}

AՈ (B U C) = { 3,6,9,12,15,18}

L.H.S -------  (A Ո B) U (AՈC)

 (A Ո B) = ǿ
  
 (AՈC) = {3,6,9,12,15,18}
(A Ո B) U (AՈC) = { 3,6,9,12,15,18}

AՈ (B U C) = (A Ո B) U (AՈC)
Q4: 
ANSWER:
Regression line of Y on X is 

Y=b+x

The two normal equations are

∑y=na+b∑x

∑xy=a∑x*b∑x2

	X
	y
	xy
	X2

	5
	16
	80
	25

	6
	19
	114
	36

	8
	23
	184
	64

	10
	28
	280
	100

	12
	36
	432
	144

	13
	41
	533
	169

	15
	44
	660
	225

	16
	45
	720
	256

	17
	50
	850
	289

	102
	302
	3853
	1308


X́ =∑x/n = 102/9 = 11.33

Ý =∑y/n = 302/9 =33/56

B=n∑xy-(∑x)( ∑y)/n∑x2-(∑x)2

=9(3853)-(102)(302)/9(1308)-(102)2
=34677-30804/11772-10404

=3873/1368

=2.8311

A=ý-bx́

=33.56-(2.831)(11.33)

=33.56-32.07523

=1.48

Hence the desired estimated regression line of y =x is 

ŷ=1.48+2.831x

The estimated regression coefficient, b=2.831 which indicates that 2.831 units for a unit increase in x.

Q5: 
SOLUTION:
	No
	X
	Log x

	1
	9
	0.9542

	2
	12
	1.0792

	3
	15
	1.1761

	4
	15
	1.1761

	5
	16
	1.2041

	6
	18
	1.2553

	7
	20
	1.3010

	8
	20
	1.3010

	9
	25
	1.3979

	10
	30
	1.4771

	
	180
	12.322


Mean : 


X-bar = ∑X




  N



= 180/10 = 18

Median : 



Size of  n+1th item 




   2



= 10+1/2



=11/2 



= 5.5



= size of 5th item + size of 6th item / 2



= 16 + 18 / 2



= 34/2



= 17
Geometric Mean:

= antilog of ∑log x  





N



= 12.322/10



= 1.2322



= 17

Mean = 17

Median = 18

G.Mean = 17

